Subject: understanding 'fix' command!
Posted by vino on Fri, 18 Apr 2008 16:12:23 GMT

View Forum Message <> Reply to Message

Hi!

| was trying out the 'FIX' command and i couldnt understand all the
arguments present. Can someone help me please? below is whats i did!
IDL> c=[1.2,-3.4,5.]

IDL> print,fix(c)

1 -3 5
IDL> print,fix(c,0)
-26214
IDL> print,fix(c,1)
-26215
IDL> print,fix(c,2)
16281
IDL> print,fix(c,0,1)
-26214

IDL> print,fix(c,0,2)
-26214 16281

thanks for your help,
regards,
vino

Page 1 of 1 ---- Generated from conp. |l ang. i dl - pvwave archive


http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=usrinfo&id=6406
http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=rview&th=26665&goto=59829#msg_59829
http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=post&reply_to=59829
http://idlcoyote.com/comp.lang.idl-pvwave/index.php

